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Chinese (USA)

Where's Waldo?

Problem Name whereswaldo
Time Limit 11 seconds

Memory Limit 1 gigabyte

B-NKEANWBREHEIPO, P1, ..., PN, RIEUHYIENNFTRNER. HIBEHF1. 2,
3. .. N, BN EFREFHI-IX, IHFARA,

RELLERNVEIRr , HLPl+Pl+1 + + Pr ZRNBFZMRZ D 2" B NIRE

RNESRRAAELDHARFIZR , UKRIPHHBFINNE. (ROEDRBURTEANFEHRE.
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FNEBFEENZERN—TENFENERTAN, TRENEFBEETFH TN RNEEH , NEPHKE,
AREHITTE -

H—RFFmEet , RATAF R P FEIE, FTEN—1T7? ab" KRB BaFb2RAHFHM (0<asbsN-
1)

ESNMEEE  ROEFMIZRR— N2 , RFZRKAPHFHM. —BREETHRFINNE , 76D
— AN e T, HAifP = 10R5. BEFTOXNE , T-RBETK.

WRERREBERFIFERY  SNRNEFITESBEHAK NER, EPythond | print)2 B3I Rl
FEC++H | cout << endl;BR T ITED—NE1THN , B2 RIFT ; MR EAprintf , EEAfflush(stdout),

HRNED

0<I<I+1<r<N-1RNEFBHN - A[HRITIL , BN =T =1000, MU
HIRIERENERN, NRENBRAREEM-—RPEE  FHREIBRAMNERER. BN,
BBRFEUATIHESS : 82 =min (220 - M/2500 , 100 ) 7, EFMRREME TR P E L #EH F 2
B, BOBETINIKEENEY, NREIZTENAE , BANEs., Bit , MRREEATELY
550,000 MR , ¥R¥EGEEI0D , MRIREM T7300,000MHELWEE |, FREFE1000, EFE , fREY
BoREMER,
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ATEFUNHRHOBRATR , RINBHRT —IEHENIR , (RUUTE. ES A kattis|a) 5 5 K P AY“ B
HEDr, ZTERWIEN , SRUUERE, FEX , katts ENEAFT P EFSNEIAETRE. =AML
(T=1000, N=10) : X FPythonF , RIZME R T Hsolution.py ( BEIZ1T N pypy3 solution.py ) :
python3 testing_tool.py pypy3 solution.py <<<"1000 10" S FC++BF , B X R FE ( Hlwmg++ -
std=gnu++17 solution.cpp -0 solution.out ) , A F & 1T : python3 testing_tool.py ./solution.out
<<<"1000 10"
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ERGINRAF S |, T=2 , N=10, W FXFELFMNE—% , RiZREFHHES 2610879124537, F—
NEB? 0 9EBRFIEHFMNHM , X255, FE=ZMEB?204ER6+10+8+7 +9 =40,

grader output your output
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